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Suppose that the firms’ markup'over costs is 5%, and

the wage-setting equation is' W=P (1-u), where u is the

unemployment rate.

@

()

(iii)

(),

What is the real wage as determined by the price-

setting equation ?

What is the natural rate of unemployment ?

Suppose that the markup of prices over costs

increases to 10%. What happens to the natural rate

- of unemployment ? Explain the logic behind your

answer.

Compare and contrast between the bargaining
theory and the efficiency theory of wage determi-

nation. (T5+21242)

Consider two alternative contractionary economic
policies. One is the removal of an investment
subsidy; the other is a rise in income tax rates. Use
the normal IS-LM schedules to discuss the impact
of these altemativé policies on -income, interest

rates and investment.
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Distingui#h between striét quantity theory of money
and monetarism. What type of statistical evidence
would you need to collect in order to support or

refute the major argument of monetarism. (4+3.5)

Consider the goods market equilibriurh condition
in a closed economy, S + TA - TR =1 + G.
(Notations have their standard meanings). _'Use this
equatiop to explain why, in the classical case a fiscal
expans_ion must lead t(é full crowding out. Explain
using the same equation, what happens fo the
econémy when there is less than full‘ employment.
(In both cases assume that there ‘is no monetary

accommodation).

Discuss the role of the parameters A (interest
sensitivity of money derﬁand), b (interest
sensitivity of investment), £ (income sensitivity of
money demand) in the transmission mechanism,
linking an increase in government spending to the
resulting change in income, using the expreséion
of the fiscal policy multiplier in the IS-LM model.

(3+4.5)

P.T.O.
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(@) Suppose, an economy is in the medium run equilibrium
and the central bank of the economy resorts to an open
market sale of securities. Using AS-AD and IS-LM frame-

~ work, discuss how this action of the central bank affects
output, consumption, interest rate, investment and price
level in the short run and in the medium run. Also discuss
the issue of neutrality of money in this context. (5 + 2.5)
® O Under what circumstances, according to the
Keynesian IS-LM model, cﬁanges in government
expenditure would not be necessary to offset
fluctuations in private spending. Why according
to the Keynesians this was an unlikely
~scenario ?
(if)  Explain why the model inconsistency problem exists
in adaptive expectations. - (443.5)
() () How does an individual get rid of the ‘signal

extraction’ problem ? What is the effect of this prob-

lem on the labor supply curve ?

(if)  What are the properties of rational expectations ?

(3+4.5)
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Suppose the Okun's law for country X is given by :
%

“

U~ o= 04 (gy, — 3%)
()  What growth rate of. output leads to an increase
in the unemployment rate of 1 percentage point per
year ? How can the unemployment rate increase

even though the growth rate of output is

positive ?

(i) What yearly rate of growth of output do we need

if we want to decrease unemployment by two

percentage points over the next four years ?

(7if) Suppose that the country experiences a second
baby. boom. How do you expect Okun's law to
change if the rate of growth of the labor force
increases by two percentage points ? Explain.

(3+2.5+2)

Suppose the Phillips curve is given by © = n¢+ 0.1-
Zu, where n° = On_. Assume 6 is equal to zero. Suppoge
that the rate of unemployment is initially equal to the
natural rate. In year ¢ the authorities decide to Ering the

unemployment rate down to 3% and hold it forever,

©

(D) r 2485

(/) What is the natural rate of unemployment ?

(i) Determine the rate of inflation in years ¢, ¢ + 1,

Pk 21

(iii) Is the assumption 8 = 0 justified ? Explain. Answer

the same for © = 1. (2.5 +2.5+2.5)

»

Suppose that the Phillips curve is given by m — n7 =
— (u, — 5%) and the expected inflation is given by

e
nl nt—l'

(/)  What is the sacrifice ratio of the economy ?

Suppose that unemployment is initially equal to the
natural rate and © = 12%. The central bank decides
that 12% inflation is too high and that starting in
year ¢, it will maintain the unemployment rate one
percentage point above the natural rate of unem-

ployment until the inflation rate is decreased to 2%.

(i) Compute the rate of inflation for years ¢, ¢ + 1,

R 2

(iif) For how many years must the central bank keep
the unemployment rate above the natural rate of
unemployment ? Is the implied sacrifice ratio con-

~ _sistent with your answer to (i).
P.TO.
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(v) What advice should you give to a central bank i
it wants to achieve the same results quickly ?-

(143+2+1.5)
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Suppose a country with fixed exchange rate, full
employment, fixed foreign prices and flexible
domestic prices, experiences unemployment and
current account deficit due to a fall in exports.
Suggest an expenditure switching policy which can

help it attain both internal and external balance.

Would such a policy be effective if the country
is experiencing inflation and wages are indexed to

the consumer price index ? (443.5)

‘A nation loses control over money supply under fixed

exchange rate regime with perfect capital mobility (at

constant prices), thus making monetary policy completely

ineffective in changing output. However fiscal policy is

fully effective in this case’. Do you agree ? Explain.

(7.5)
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Assuming money market equilibrium in India and
USA determine the exchange rate using monetary
approach when India's nominal GDP = 100,.V = 4,
Ms = 30, and USA’s nominal GDP = 200,
V =2, Ms = 50. Suppose Ms in India increases
by 10 percent relative to that in USA, how will it

affect the exchange rate ?

Explain how lags in the adjustment of trade flows
to changes in the relative prices caused by depre-
ciation aﬁ'ects the trade balance in the short run

and the long run. (3.5+4)
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Discuss the portfolio adjustment under flexible exchange

rates using the extended asset market model in the

following cases- :

() Increase in the expected appreciation of foreign

currency.

(i) Increase in domestic interest rate. 4+3.5)

Assuming uncovered interest parity condition and

“expected appreciation of foreign currency to be zero

initially, explain why the exchange rate overshoots its long
run equilibrium in response to an unexpected increase in
domestic money supply. (7.5)
Explain using a suitable illustration what is meant by
covered interest arbitrage parity (CIAP).

Explain the process of adjustment in the following

situations :

‘ (/)  when negative interest differential in favour of

foreign monetary center exceeds the forward

discount on foreign currency.

(i)  when forward premium on foreign currency exceeds
the positive interest differential in favour of
domestic monetary centre. (3.5+2+2)

P.T.O.
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